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i {3t It fit ou kyou
it 175 I 1 ou kyou
%4 It e ou kyou
FE 4 iE fit en kyou
S T 1 en kyou
EH iE e en kyou
I RE I e ou nou
HERE iE BE en nou
& It & ou tou
i it #® ou tou
HEE HE & en tou
TR iE # en tou
fnd:::! i L en ten
EX i PN en ten
I EA It =13 ou tyou
HEER iE 2 en tyou
i 7 IS kou ou
NI YN Iits kou ou
s I It kou ou
I % Iits kou ou
E & E It kou ou
% % I kou ou
EI £ IS kou ou
TN & I kou ou
EZt = IS kou ou
B it it kou ou
=4 = It kou ou
EII 2 I ken ou
EIN 2 It ken ou
T fi2 T ken en
BRI 2 E ken en
JLRE )t BE kou nou
NEE N BE kou nou
IhRE I BE kou nou
ek % BE kou nou
N E BE kou nou
=] =2 BE kou nou
E ] £ BE kou nou
[LBE A BE kou nou
FERE BE BE kou nou
EZHe = BE kou nou
BlgE BE kou nou
= RE = BE kou nou
e 2 BE ken nou
e 2 BE ken nou
& fit 1= kyou tok
& )t & kou tok
NE n & kou tok
s I 1= kou tok
;s #h & kou tok
e 1 = kyou tok
EfE E & kou tok
GEF & 5 dou tok 1
2E =y & dou tok
& =3 & kou tok
B = & you tok 1
= £ & kou tok
IL1E & & kou tok
FEfE BE & kou tok 10
BE e 1= kyou tok
EAfE 2 = tyou tok
FfE Fx & ou tok
1 pE 3 1= you tok
& A 1= you tok
=& = & kou tok
HfE H® = kou tok 1
BfE B = ryou tok
E2E -2 & you tok
EE & & dou tok
&1E (5] & you tok
fRfE | = ryou tok
=E E=3 & you tok
=X = & kou tok
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=K B 7K dou ei
=3 =3 X kou ei
K = 7K you ei
E73 £ X kou ei
7K & 7K kou ei
ok e 7K kyou ei
gk # X tyou ei
¥k Fx X ou ei
= e 7K you ei
FAsk =< 7K you ei
Ek % 7K kou ei
B 5Kk X kou ei
Bk B 7K ryou ei
Ek = 7K you ei
B K bl K dou ei
Fk E i3 tyou ei 2
&K (5] 7K you ei
FHK | 7K ryou ei
&K E=3 7K you ei
=K = X kou ei
I fit 15 kyou sei
15 S fiig kou sei
NI N 13 kou sei
b5 1154 I 13 kou sei
I % i34 kou sei
R 1 13 kyou sei
[ E 13 kou sei
B G i3 dou sei
EI B i3 dou sei
ZIK =3 i34 kou sei
B = 15 you sei
E1 £ i34 kou sei
LI & i3 kou sei
BRI EE i34 kou sei
i I It 13 ou sei
IR e i kyou sei
=25 2 i3 tyou sei
P Fx i34 ou sei
FI # 13 you sei
FE =< i you sei
EZI % i3 kou sei
EEN i34 kou sei
B B 15 ryou sei
EZX = 13 you sei
PEN bl i3 dou sei
I 53 13 tyou sei
154 (5] i3 you sei
TR | 13 ryou sei
=314 E<3 i3 you sei
= = i34 kou sei
5k 2 7K ken ei
EK = 7 zen ei
HESK iE P, en ei
oK ® 7 ren ei
I 2 13 ken sei
JTI JT 13 gen sei
= = 13 zen sei
FEE i 13 en sei
B e 13 ken sei
£ 154 ® o ren sei
1E fi2 1E ken syo
g i i ken syo
B= 2 = ken syo
2 hg 2 it ken syo
i & m ken syo
fizra 2 i ken syo
®’E fi2 =) ken syo
2 2 7 ken syo
f2EE iz g ken syo
BIE £ 3 ken syo 26
g 4 P2 ken syo
BE e = ken syo
Eis e it ken syo
FEL N 4 LN ken syo
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